
f
∫

f
c
= Pozn. Kde

xn x
n+1

n+1
n ∈ Z, n 6= −1 x ∈ R pro n ≥ 0, x ∈ R \ {0} pro n < 0

xa x
a+1

a+1
a ∈ R \ Z x ∈ (0,+∞)

1

x
ln|x| x ∈ R \ {0}

ex ex x ∈ R
ax a

x

lna
a > 0, a 6= 1 x ∈ R

sinx − cosx x ∈ R
cosx sinx x ∈ R
tg x − ln | cosx| x ∈ R \ {π

2
+ kπ, k ∈ Z}

cotg x ln | sinx| x ∈ R \ {kπ, k ∈ Z}
1

cos2 x
tgx x ∈ R \ {π

2
+ kπ, k ∈ Z}

1

sin2 x
−cotgx x ∈ R \ {kπ, k ∈ Z}

arcsinx x arcsinx+
√
1− x2 x ∈ (−1, 1)

arccosx x arccosx −
√
1− x2 x ∈ (−1, 1)

arctg x x arctg x − 1

2
ln(x2 + 1) x ∈ R

arccotgx x arccotgx+ 1
2
ln(x2 + 1) x ∈ R

1
√

1−x
2

arcsinx x ∈ (−1, 1)
1

√

1−x
2

−arccosx x ∈ (−1, 1)
1

1+x
2 arctg x x ∈ R

1

1+x
2 −arccotgx x ∈ R

sinhx coshx x ∈ R
coshx sinhx x ∈ R
tghx ln(coshx) x ∈ R
cotghx ln | sinhx| x ∈ R \ {0}
1

√

x
2+1

arg sinhx x ∈ R
1

√

x
2
−1

signx arg cosh |x| |x| > 1

1

1−x
2 arg tghx Pozor na def. obor! −1 < x < 1

1

1−x
2 arg cotghx Pozor na def. obor! |x| > 1


